Total No. of Questions : 5] SEAT No. :
P3065

[Total No. of Pages : 4

[5204] - Ext. - 11
ML.A. (Part - I) (For External)
ECONOMICS

Micro Economic Analysis - I and Micro Economic Analysis - 11

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Draw diagrams wherever necessary.

Q1) Explain in detail Prof Samuelson's Revealed Preference theory of demand.|20]
OR

Explain the cardinal and ordinal utility approach. On what account is ordinal
utility approach superior to cardinal utility approach? Discuss.

02) Give the meaning of Average and Marginal cost [1llustrate these concepts with
the help of suitable diagrams and numerical examples. [20]

OR

Explain the law of variable proportions.

03) What is monopoly? How monopoly firm attain equilibrium in short run and
long run. [20]

OR

What is Oligopoly? Explain how price and output determination under cartels.

PT.O.



Q4) Critically examine marginal productivity theory of distribution. [20]
OR

What are the alternative theories of the firm? Explain the goals of these firms.

Q5) Write short notes on (Any four) [20]
a) Basic Economic problems
b) Producers surplus
c) Externality and social welfare
d) Regulation of monopoly
e) Arrowsimpossibility theorem

f)  Classification of markets

\YAYAYAY%
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Total No. of Questions : 5]

P3065

[5204] - Ext. - 11
M.A. (Part - I) (For External)
ECONOMICS

Micro Economic Analysis - I and Micro Economic Analysis - 11

(2013 Pattern)
(TS TUTR)

ge : 3 ard] [ TguT 7707 - 100
gaar :— 1) @d gv7 @isar.

2) IwAiEEleT s quf o Ffaaa.
3) 3 AF! T gRgg arEia.

4) VIS A9 A% HTHET FHIET.

5) @quiarst ge s FvTaAT TgT.

g7 1)

97 2)

97 3)

. TRAEA el RO Tehe gt faegia afea T &4, [20]
e
JTeRgTIt STTIUT HAEI( IUAWIIAT gEhIUT T .

‘shugylt SufiaT gEieRIuT g1 v aTeadia sishaylt SuERiiaT geishumaeT
AT IR, =T w0

OO T HWE e oY AR, G TRt G AR IETERuIedT TgTeam

T GHeUT TIY . [20]
feRar

TSAAT THTOT=N fFaw wuE .

Aha N FEUTS! hTd ? AThaRT ScTaH HEAT TeUhTe [ o dTEehTei M THATA hITIhR

E1ecy [20]

feman
ACUTIShATIIhR FEUTS 1T ? shiced aToIR Tfidia fohma efor scumew fRo=hieht
HIM TehR Zid o TIY T,



gy7d) T fauma Scareswar fasgiarer dentenes afteror @,
TeRar

IeaTEAEEATS U fHegia v ? an Searen wedsl S WY WL

gg75)  oswma &t forgr. (S =m)
) A IATieh wHET
q)  IeATgeRTET ATETET
®) STEAAT T AHINTS HedTor
T) uwheWa faEwr
3) o Y ST IHT
W) SRI™ aiTeRtor

VVVV
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Total No. of Questions : 5] SEAT No. :

P3066 [Total No. of Pages : 4

[5204] - Ext. - 12
ML.A. (Part - I) (Annual Pattern)
(For External)
ECONOMICS

Public Economics - I and Public Economics - 11
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Answer should be precised and to the Point.

Q1) Explain the role of government as an agent for Economic planning and
development. [20]

OR

Explain in detail stabilization policy.

02) Explain the structure and Growth of public Expenditure. [20]
OR
Explain the Ability to pay approach of Taxation.

03) Explain in detail the sources of Public Debt. [20]
OR

Explain the Economic classification of Budget.

04) Explain the problem of Vertical & Horizontal Imbalance Federal Finance in
India. [20]

OR

Explain in detail Fiscal sector Reforms in India.

PT.O.



Q5) Write short notes (any four)

a)
b)
c)
d)
e)
)

Tiebout model

Private Goods

Shifting of Tax Burden
Balanced Budget multiplier
Taxes on Services

Public debt Management

VVVV
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Total No. of Questions : 5]

P3066

[5204] - Ext. - 12
M.A. (Part - I) (Annual Pattern)
(For External)
ECONOMICS
Public Economics - I and Public Economics - 11

(AT EUTR)

ge : 3 ard] [ TguT 7707 - 100
gaar :— 1) @d gy qislan JrEavas g,

2) Iwdideier i quf quT Fifaard.
3) 3 AF! T gRgg arEia.
4) Geyfarst gz sust gy gfFer ggrdt.

g7 1)

g972)

97 3)

797 4)

aATiereR fatem enfor srrfdfen foremmaTiter ReRRen STfireRal /Aeaee U qiHeRt
Y . [20]

feRar
TeodieRtuT &NRuT AfeeR T8 &,

g T AT AT aTe Tfewar T . [20]
e
T A QT AT YR T H.

ATESTeh el SR AT /&a gt favre . [20]

feRatt

WAt wo foramaefier gt sfor aweade srewarere THen T8 1. [20)]
e
TRATd A ot @ereiter gomon afer g .



gg75)  ongeTa dur feEr. (SiureTEt 9w)

W) WTESTHe el SHEwITaH

\YAYAYAY%
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Total No. of Questions : 5] SEAT No. :

P3067 [Total No. of Pages : 4

[5204] - Ext. - 13
ML.A. (Part - I) (For External)
ECONOMICS

International Trade and International Finance

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4) Answer should be precise and to the Point.

Q1) Examine critically Comparative cost theory of International Trade. [20]
OR
Explain krugman Theory of Economic Geography.

02) Discuss the arguments for and against free trade policy. [20]
OR

Comment on recent features of global Trade growth.

03) Explain the objectives and functions of world Bank. [20]
OR
What is Exchange rate? Explain the merits and demerits of Flexible Exchange
rate.

04) Explain the role and Importance of foreign capital-Trade and Investment.[20]
OR

What is meant by Balance of payments Disequilibrium? Explain the causes
and effects of disequilibrium in the Balance of payments.

PT.O.



Q5) Write short notes (any four)

a)
b)
c)
d)
e)
)

Leontief paradox

Gross Barter Terms of Trade
Dunkel proposal

Foreign Trade Multiplier
Asian Development Bank

Non-Banking Financial companies

VVVV
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Total No. of Questions : 5]

P3067

[5204] - Ext. - 13
M.A. (Part - I) (For External)
ECONOMICS

International Trade and International Finance
(2013 Pattern)

(AT EUTR)

ge : 3 ard] [ TguT 7707 - 100
gaar :— 1) @d gv7 @isar.

2) IwAiEEleT s quf o Ffaaa.
3) rEvaE A9 A% HTHET FHIET.

4) IW IWF T gRgg AT

5) @quiarst ge s FvTaAT TgT.

g7 1)

g972)

97 3)

777 4)

ATAWTET SATIRTAT JeATeHe @el fageiara ishTeneh Udierun o, [20]
e

GedT TR R0t aeqd ATfuT femielt Jerframgren o= . [20]
e
AAThS=aT AN(deh SATUR dTeeal AiTsIiaee fewuft forgr.

TART R SATIR TSI Teiiehg el STSTSITa]. 9T o, [20]
fema
v @ ? Tgaen fafm = Ui .

Tresft wigaer samur snfur Yaauphel Y o g foavreg *a. [20]
e

HAERAT STAHATA FUN ohidl ? STOgRATel STAHATATS ! iUl SATT0T IRoTS

Terote =,



gg75)  ongeTa dur feEr. (SiureTEt 9w)
1) forerfewen Ry

®) THA TWE
g) foesht =R U

3) oI fowm o®
W) S faxiE o

\YAYAYAY%
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Total No. of Questions : 5] SEAT No. :

P3068

[Total No. of Pages : 3

[5204]Ext. - 14
ML.A. (Part - I) (For External)
ECONOMICS

Mathematical Economics and Statistical Techniques

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :

1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Draw neat diagrams wherever necessary.
5) Use of non-scientific calculator is allowed.
Q1) Solve any one of the following : [20]
a) Factorise
) 2x*-10x+12
i) 30x*+52x+ 14
i) x*+8x+ 16
iv) A’-Db’
b) Calculate the point elasticity of demand for the demand schedule
P =60 — 0.2Q where price is
1)  zero, 1) Rs. 20
i) Rs. 40 and iv) Rs. 60
02) Solve any one of the following : [20]
a) Use inverses to solve system of equations
X, — X, tx,=3
2x,—x, =1
2x, +3x, =4
b) If a firm faces the marginal cost schedule MC = 180 + 0.3¢* and the

marginal revenue schedule is MR = 540 — 0.6¢? and total fixed costs are
Rs. 65. What is the maximum profit it can make?

PT.O.



03) Solve any one of the following.
The growth of production of fish for the period 1996-97 to 2002-03 is

a)

b)

given below :

Year Marine | Inland Total
1996 - 97 6 3 8
1997 - 98 9 3 12
1998 - 99 11 7 18
1999 - 00 16 9 25
2000 -01 17 12 30
2001 -02 18 12 30
2002 - 03 13 9 21

[20]

In the following grouped data 'x' are the mid points of the class intervals
and 'c' is a constant. If the arithmetic mean of the original distribution is

35.84, find its class intervals.

X-C 21 -14 -7 0 7 14 21 | total
Frequency | 2 12 19 29 20 13 5 100
Q4) Solve any one of the following. [20]

a)

b)

The following table shows that monthly expenditures of 80 students of a
university on morning breakfast.
Calculate the Arithmetic Mean, Standard Deviation and Coefficient of

Variance.

Expenses No. of students
78 - 82 2
73-77 6
68-72 7
63 - 67 12
58-62 18
53-57 13
48 - 52 9
43 - 47 7
38-42 4
33-37 2

Compute Correlation coefficient in the following series relating to cost
of living and wages and comment :

Wages :

100|101

103

102

100| 99

97

98

96

95

Cost

98 | 99

99

97

95192

95

94

90

91

[S204]Ext. - 14



Q5) Solve on any four of the following.

a)

b)

c)

d)

[20]

If Rs. 6000 is invested for 3 years at 8% interest compounded annually
at the end of each year, what will be the final value of the investment will

be?

420 = 4x + Sy and 600 = 2x + 9y Find the values of x and y.

Derive the determinant of matrix A =

4
7
12

3 10
0 3
2 5

Following figures give the ages in years of newly married husbands and
wives. Prepare a bi - variate Frequency Distribution.

Age of husband 24 26 27 25 28 24 27 28 25 26
Age of wives 17 18 19 17 20 18 18 19 18 19
Age of husband 25 26 27 25 27 26 25 26 26 26
Age of wives 17 18 19 19 20 19 17 20 17 18
Calculate the mean for the following frequency distribution :

Marks 0-10|10-20]|20-30(30 - 40(40 - 50(50 - 60(60 - 70
Frequency 6 5 3 15 7 6 3 50

Write a short note on merits and demerits of mean.

[S204]Ext. - 14
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Total No. of Questions : 5] SEAT No. :

P3069 [Total No. of Pages : 4

[5204] - Ext. - 15
ML.A. (Part - I) (Annual Pattern)
(For External)
ECONOMICS
Agricultural Economics and Industrial Economics

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) Attempt all questions.

2) Figures to the right indicate full marks.

3) Answer should be precise and to the Point.

Q1) Explain the role of Agriculture in Indian Economy. [20]
OR

State and Explain the problems of Agriculture labour in India.

02) Explain the structure of Co-operative credit in India. [20]
OR
Explain the problems of Agricultural Marketing in India.

03) Explain the scope and significance of the study of Industrial Economics.[20]
OR

What is industrial productivity? Explain the factors affecting industrial
productivity and capacity utilization.

Q4) State and explain the factors influencing Location of industries. [20]
OR

State and Explain the Sources of industrial finance.

PT.O.



Q5) Write short notes on (any four) [20]
a) Bio Technology
b) Contract Farming
c) Food Security in India
d) Problems of Small Scale Industries
e) Role of MNC's in India

f)  Causes of unbalanced regional development of industries.

VVVV
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Total No. of Questions : 5]

P3069

[5204] - Ext. - 15
M.A. (Part - I) (Annual Pattern)
(For External)

ECONOMICS
Agricultural Economics and Industrial Economics
(TS EUTR)
ge : 3 ard] [ vzt 7797 - 100

gaar :— 1) @d gv7 @isar.

2) IwEiESier oiw quf T FifAAT.
3) 3 AF! T gRgg arEia.
4) Geyfarst gz sust gy gfFer ggrdt.

g7 1)

g972)

97 3)

797 4)

HRATE STt vl et TIg . [20]
foRan
WRATATE JAASeal THET 9RT 9 T8 .

WRATATA Hghl Taqiaearel &A1 Y H. [20]
feRar
WRATAT SaHTe fshleaaddier queaT g &,

TR STefvTRAT=AT ATETE AT SATUT Wged TAE o, [20]
e

3HTENTITeh STUTEehT FEUTS h1d ? STEITTiIeh ScaTgehdl STTTUT STATEASTHAT STURTER

IRUTTH AR Teh TIY .

ArenfiTeh TamAATTedtar aRum FUTR Teh Armm 9 T8 . [20]
e

iR Fe A A R



gg75)  ongema feur foer. (shivreaTd =)
) HadaEH

W) HRATAT S=TERer
E)  CIgSTNTEAT FHET

3) SEUYE WgHSEHl HRATdier et
W) sitenfes A srEqiea faeTaTe ot

\YAYAYAY%
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Total No. of Questions : 5] SEAT No. :

P3070 [Total No. of Pages : 4

[5204] - Ext. - 16
ML.A. (Part - I) (Annual Pattern)
(For External)
ECONOMICS

Indian Economic Policy and Labour Economics
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :
1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answers should be precise and to the Point.

Q1) Explain the trades in Indias national income in India and state the indicators of

Economic development? [20]
OR
Explain the effects of Liberalization, privatization and Globalization on Indian
Economy.
02) Explain in detail the reforms of Labour market in India. [20]

OR

Discuss the financial sector reforms in India.

03) Explain the nature, Scope and Importance of Labour Economics. [20]
OR

Explain the wage policy in India.

Q4) State and explain the causes and effects of labour migration. [20]
OR

Explain the current trends in collective bargaining.

PT.O.



Q5) Write notes (any four)

a)
b)
c)
d)
e)
)

Poverty in India.
Indias foreign Trade
Capital market in India

Contract Labour

Characteristics of Indian Labour market.

Child Labour

VVVV
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Total No. of Questions : 5]

P3070

[5204] - Ext. - 16
M.A. (Part - I) (Annual Pattern)
(For External)
ECONOMICS

Indian Economic Policy and Labour Economics

3z : 3 ard]
g=Aar :— 1)
2)
3)
4)

(TS TUTR)
[ Tgor T : 100
T T SHTATIAF TR
FTeieSIcT Sl gl JOT Foifaard.
I AWH! T JPgg HATa.

gy7l)  WRATEAT TP AT A Tt TIY HAT ATIOT 31TfeieR Toremrama fdvres @mm. [20)]

feRart
IR, TTANTRITT TTUT AT reh TRl WA STeieaasdaiic UiumA g
w0,
Ty72) HRAE JHETERIGE R Ao T8 . [20]

feRart

TR - aeTRrdie Gaun=t a=i &

gg73) oW AAVTETS TaEY, SATH AT Uged TqT o, [20]

feRatt

WRATA A dd= RuT fa9re .

gv74) oW TYATRTE HROT AT IROTE AT G T w4, [20]

feRar

ATfEw HigmTaRdean AfeTehdial Tadt Tag &,



gp75) T (SivrErd 9 n)
1) WRATAIA Tt
F) YRaren faevht =R
W) HRAE Wigad aR
) HATET HIR
T) WRAE WEREl afn

W) dT HIATR

\YAYAYAY%
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Total No. of Questions : 5] SEAT No. :

P3071 [Total No. of Pages : 4

[5204] - Ext. - 21
M.A. (Part - II)
(For External)
ECONOMICS

Macro Economics - I and 11

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Answer should be precise and to the Point.

Q1) Explain the concepts of GNP, GDP and NDP in detail. [20]
OR

Explain keynesian approach of determination of equilibrium of aggregate
demand and aggregate supply.

02) Explain the derivation of IS and LM curve. [20]
OR

Explain the concept of acceleration. What are its Limitations.

03) Comment on the debates relating to definition of Money. [20]
OR

Critically examine Fisher's Quantity theory of Money

04) Explain the sources of inflation. [20]
OR

Compare the real and monetary theories of interest rate.

PT.O.



Q5) Write short notes (any four) [20]
a) Relation between disposable income and consumption
b) Automatic stabilizers
c¢) Liquidity Trap
d) Reddy committee Report
e) High power money

f)  Taylor Rule

VVVV
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Total No. of Questions : 5]

P3071

[5204] - Ext. - 21
M.A. (Part - 1II)

(For External)
ECONOMICS
Macro Economics - I and 11
(2013 Pattern)

(AT EUTR)

ge : 3 ard] [ TguT 7707 - 100
g o~ 1) @d gvT sifAard sga.

2) IwdiHEier Jw Ty qUf 0T Foifaara.
3) 3R AF! T gRgg arEia.
4) Geyfarst gz sust gy giAer ggrdt.

g7 1)

g972)

g97 3)

797 4)

GN.P., GD.P. arifor N.D.P. a1 HeheuqT AfER T8 . [20]
foRan
TRUT AATUM T TRUT GLEST ATSATATA AHATATAT hed AT EhIA TIE .

IS & LM =shreht fafddt woe = [20]
TeRar

YT SATEREa e aIgTar. 9T . [20]
e

TryR T Gutreat uia fasaamr derterer aiteror o,

AR Fd T . [20]

e
TS AT TeFIauash o aad fHegaret gt .



gy75)  oredma fwr fogn. (wurerdt wR)
) TR IO d IUWRT qraefier qae
q) ImYa fers
%) TG ATIBT
T) & wfndran srgar
3) I Ve OEl
w) owen Em

VVVV
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Total No. of Questions : 5] SEAT No. :

P3072 [Total No. of Pages : 4

[5204] - Ext. - 22
M.A. (Part - II)
(For External)
ECONOMICS
Growth and Development - I & 11

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Answers should be precised and to the Point.

Q1) Distinguish between Economic Growth and Economic Development. Explain
the problems in defining Economic development. [20]

OR

Critically examine Harrod-Domar growth model.
02) Compare the income inequalities in developed and underdeveloped worlds.[20]
OR

What is urbanisation? State the problems of urbanisation.

03) Explain in detail the role of Industrialisation in economic Development. [20]

OR
Compare the role of monetary policy and Fiscal policy in Economic
Development.
Q4) Explain the role and function of International monetary fund. [20]
OR

Explain the role of market in developmental processes.

PT.O.



Q5) Write short notes (any four)

a)
b)
c)
d)
e)
)

Development Gap and H.D.I.

Cobb. Douglas production function

Age structures of population & Economic development
Social Infrastructure and Economic Development
Export promotion Vs Import substitution

Self Help groups

VVVV
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Total No. of Questions : 5]

P3072

[5204] - Ext. - 22
M.A. (Part - 1II)
(For External)
ECONOMICS
Growth and Development - 1 & 11
(2013 Pattern)

(AT EUTR)

ge : 3 ard] [ TguT 7707 - 100
gaar :— 1) @d gv7 qislan JrEavas g,

2) IwdiHEier Jw Ty qUf o7 Foifaara.
3) 3R AF! T gRgg arEia.
4) Geyfarst gz sust gy giAer ggrdt.

g7 1)

97 2)

97 3)

7774)

aTfeieh gedt omTfut omfeieh fashm aTeier weh |TTT efTidfeR farehTaTeil saTE

TOATAA T T HA0. [20]
e

TE-TMR Irean geit Afaarra feahreass aferor .

Torrfea erTiur stefforehfaa ST Seaw faawdet et oa. [20]
TeRar
TERIUT OIS h1 ? ITEeh{uTT=aT SWE&T |,

TR TorehTaTd el SitelRTehTehTuTTe YiHehT HTaEaR TIE . [20]
TeRan

aTfeieh TareRTaTa TeHTauaeh STRUT & TSTehTY I SRUT ATedT YTkt et al.

ATAWTE ATV AT ATT HTE TAY HAT. [20]

ToRan
TR Ufhadiel aTTRUSE YRt TUY .



gg75)  oredma dur forgt. (SiureErdt wr)
) ToreraTdter sfer erfor are ferenra FRdvrien
q) I, TTAE I Hed
F) AHEE TAHHELEAR T T ATw foh
T) IS U giaem St enfee faeRe
3) Tata viames fawesg smam aaiieto

W) I AEREAA e

VVVV

[5204] - Ext. - 22 4

[20]



Total No. of Questions : 5] SEAT No. :

P3073 [Total No. of Pages : 4

[5204] - Ext. - 23
M.A. (Part - II)
(For External)
ECONOMICS
Modern Banking and Research Methodology

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Answer should be precise and to the Point.

Q1) Explain the role of financial system in economic development. [20]
OR

State the functions of modern banks in India.

02) Explain the nature and types of Non-banking Financial Institutions in India.[20]
OR

Explain the role of foreign exchange market.

03) What is research? Explain the types of research. [20]
OR

What is primary data? Explain the sources of primary data.

04) Explain the importance of Graphs and Diagrams in research. [20]
OR

Explain the stages of report writing.

PT.O.



Q5) Write short notes (any four) [20]
a) Balance sheet of a commercial Bank
b) Progress of E-Banking in India
c) Provident Fund
d) Importance of Social research
e) Historical Method of research

f)  Merits and demerits of mode

VVVV
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Total No. of Questions : 5]

P3073

[5204] - Ext. - 23
M.A. (Part - 1II)
(For External)
ECONOMICS

Modern Banking and Research Methodology

(2013 Pattern)
(TS TUTaR)

g : 3 arE]
gaar :— 1) @d gy fard oz,

2) IwEIESIT S TeAI= qUf T FiaaTa.
3) 3R AF! T gRgg arEia.
4) @guarst gw A T97 TiEHET gTa.

[ 7T 707 - 100

g7 1)

g972)

g97 3)

797 4)

anTfeieh TRl famitersonefi=t JivehT Tog &.
ToRan

e
Ty fafiwa st gt T w0,

TINYA TR 1A ? AT ThR T HAT.
e
TTATHR T2 U 1 ? TTATHeR d2aT=l &id T .

fera
STEATA AEATATA UTI=IT TAY .

[20]

[20]

[20]

[20]



gg75)  ongeTa dur feEr. (SiureTEt 9w) [20]

VVVV
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Total No. of Questions : 5] SEAT No. :

P3074 [Total No. of Pages : 4

[5204] - Ext. - 24
ML.A. (Part - II) (For External)
ECONOMICS

Demography and Rural Development

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Draw diagrams wherever necessary.

Q1) Give a brief outline of growth and distribution of World Population since -
1951. [20]

OR

Critically evaluate optimum Population Theory.

02) Explain the features of India's National Population Policy - 2000. [20]
OR

Explain the nature of infant mortality in India. State the causes of high infant
mortality in India.

03) Explain the Gandhian Approach of rural development and comment on its
impact on rural development in India. [20]

OR

What is infrastructure? Review the growth of irrigation, electricity and
communication in India.

PT.O.



04) Explain the causes of rural indebtedness in India and discuss the measures
used by government to eliminate the rural indebtedness. [20]

OR

What are the causes of rural migration? Explain its impact on rural development.

Q5) Write short notes on (any four) : [20]
a) Scope of Demography
b) Methods of contraception
c) SexRatio in India
d) Trends in cropping pattern in India since - 1991
e) Nature of rural unemployment
f)  Swarn Jayanti Gram Swarojgar Yojana

VVVV
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[5204] - Ext. - 24
M.A. (Part - II) (For External)
ECONOMICS

Demography and Rural Development
(2013 Pattern)

(AT EUTR)

ge : 3 ard] [ TguT 7707 - 100
gaar :— 1) @d gv7 @isar.

2) IwdiwEier J gyATR qUf o7 Foifaara.
3) 3 AF! T gRgg arEia.

4) VIS A9 HTHET FET.

5) dgyfarst gw sust gy gfAer ggrdt.

g7 1)

g972)

97 3)

1951 urgA AATieh eireraeat faumroft a gedt = engeama smraet |ret. [20]
foRan

TRATY W wireREE eRor 2000 <t 3fred T . [20]
e

T foeRTe forweres iefsen gEtehie favTg U STTUT T WA AT
ferepraTedier guTaTER Wt AL [20]
feran

T GiagT RN & ? Sotded, fasga onfur d@ew agd ardter g
HRATEAT EHTA STTeTaT El.



T974)  WRATAA JTHUT FHTETER YUTE HROT TIE A, ATHOT FHAaTIRl qom gx
UGS TIhRRA T SUIT <=t . [20]

feRar
YTHIUT TATTT HITUT SHIVTAT ? =T ATHI0T feehmaTerier Toma faere .

gg75)  engwma dut forgr. (wiurerd ur) [20]
)  TAIREATAT AT SATH
q)  Hadt fFema geadt
®) WRATHA S-J&9 THT0T
g) 1991 UTgA WRATdter Uik ST Tgdt
3) U SN TR
W) T S AT FEASER AT

\YAYAYAY%
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[5204] - Ext. - 25
M.A. (Part - II)
(For External)
ECONOMICS
World Economy and Economics of Environment

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) Attempt all questions.

2) Figures to the right indicate full marks.

3) Answer should be precise and to the Point.

Q1) Explain in detail the structure and components of Global Economy. [20]
OR

State the objectives and role of organization for Economic Co-operation and
development. (OECD).

Q2) State the possibilities of industrial development in Africa and what are it's

limitations. [20]
OR

Explain in detail the major issues of economic development in south east

Asia.

03) Explain the Nature, scope and Significance of economics of environment.[20]
OR

Explain the effects of environment on human being.

04) Explain the role of Private and Public sector's in environment Protection.|[20]
OR

Explain the effect's of technological changes in Agriculture sector on
environment.

PT.O.



Q5) Write short notes on (any four) [20]
a) Real estate Prices and economic crisis in Japan
b) Features of Global Economy
c) Role of BRICS
d) Cost-Benefit Analysis
e) Environment Education

f)  Effect's of Global warming

VVVV
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Total No. of Questions : 5]

P3075

[5204] - Ext. - 25
M.A. (Part - 1II)
(For External)
ECONOMICS

World Economy and Economics of Environment

(2013 Pattern)
(TS TUTaR)

ge : 3 ard] [ TguT 7707 - 100
gaar :— 1) @ gv7 @isar.

2) IwdiHEier Jw Ty qUf o7 Foifaara.
3) 3R AF! T gRgg arEia.
4) Geyfarst gz sust gy giAer ggrdt.

g7 1)

g972)

97 3)

777 4)

ATfeh Stefeaeore ToAT 9 Ueeh TIY . [20]
e
antfefer wgeRtd anfut faeem waear= (OECD) sfesar @ yftrest @i,

ATThehdTer TeNfireh fererTaT=aT AHTeTaT |, HATOT aTadiet HAtQt hivTeaT d

. [20]
TeRar

aferor gd enfSrardier enfdfer feremmar fawaess yq@ g2 afeem ww 0.

UITeRuT STVl Ta%Y, SITHT AT Hged TIE ohdl, [20]
TeRar

THTERUTE ATFET el IRUTH T8 .

ITERUT AT WIS AT ATk QrATel ekt TIF . [20]
fema



7975)

oftgerma drut forgr. (Tt =Im)

) U gefter areaa urerdar feRaet smfur errfeles anfesm
) Wi stdeaEsel afvre

%) frera (BRICS) ht sfirert

g) TeE-o frgewo

T) uEteror foreror

®) Telae arre (Global Warming) uftomm.

VVVV
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